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2.

K
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. ipa AR TIPPRLREZRARS

3: eth0: <BROADCAST,MULTICAST,UP,LOWER_UP> mtu 1500 adisc pfifo_fast st:

link/ether 00:05:6b:01:c1:06 brd ff:ff:ff:ff:ff:1f
inet 172.28.14( 4 brd 172.28.140.255 scope global dvnamic eth(

val id_|ft -~ preferred_|ft 3H5h3sec
inet 192.168.2.99/24 brd 192.168.2.755 scope global eth(:1]

val Id_|Ttt torever preferred_|Ift forever

FIHEAERE TH S 192.168.2.99 Ff=lddhcpTEIY B TONTZIPTFL A% ED
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1. Jupyter notebook®MFiles?7 TdemoT«ALVKJIZAS
2. B9 5TE(counter32) DT4LIR)IZAS

(Jo ~ Wm/ demo

5.

@D (3 counter32

O Cldp

O O Idp TEG1
0o -

3. “cocunter32.ipynb” #5)vHOLA—TF 5% =g

— Jupyter

Files Running Clusters

Select items to perform actions on them.

0o ~ m/
t] (3 base

(J 3 common

:DD 3 demo

(O getting_started

O

O [ logictools
(O [ pyng_peripherals
O

& \Welcome to Pynq.ipynb

B/ demo / counter32

@D & counter32.ipynb

O [3 counter32.bitstream.frame

O O test fpga_100.bit
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\

—LALT1=1&IZ,

(PYNQ 2D FIOICIEREBEEID A>TV SD TERALIZLGE LAY,

BED=HIZIEZDFIEMNRLY)

: Jupyter counter32 Last Checkpoint: 14581 (unsaved changes)

AR — Tl AR —
TBIRAAYF (EON) EIRLED

File Edit Insert Cell Kernel Help

+ = B +» ¥ . C » | Markdown

View Widgets

v & Voila | Ll

(counter32)

32EwY b HD > 5 DENEESR
ScriptiZ EOSIEICRITT D

PYNQ-Z2_ EXC7Z020DPLEBI> I« F1L—>3>
In [1887:
¥ PYNG-Z2 PLODEERE

from pyng import Overlay
from pyng.lib import AxiGPIO

<>
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#1715, A5 S LTTCKEZHIEIL TWLAEEZEMNOERIZITZF 195,

& )

ERLDNEA TSN ESN I, §EER—FELED#HLED (CONF_MODE) A
PR AIETHERTES.
78, CRCZ5—hH=[RIL,

sF{fiR—ZE £ D FRLED (ERRL) AV HLAT T 5.

In [4]:

Out[4]:

TEGT config( counter3?.bitstream.frame’)

Bitstream file reading .. .lone.
Start TEGT configuration (about Tmin.)

End

0

TEGT configuration 40.13 s
Pass: conf _mode inactive.
Enter normal mode.

P
<=

“O”-C:IE ﬁ%ﬁ%g T

XEBRE AN TRIDEITTIL, “Bitstream file reading” D Ayt—U A BETAOLRRBIANIMNYET .

XAEFAV T4 F 2L —2aV[CRkBITHIEABYFET. TDERERN—CDOFIETHRITLEY.
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6. “Bitstraem file reading” ® A*vt—T h =& T, CONF_MODE®DLEDAY B gL TL VAR
WEEE, TRRILIS—ARELTWNS. CDIFE, TAT 5L TLAEL
7=, ERRLOLEDAVEATL=EEIICRCIS—AFELELTLVS.
TR S LM TLTULVEWNESE ([(F]1DFRR) DRFIE, WebiEim L&D
BZHLTRTSES.
TNk, TR LDEENSHEITTS.
(R—FDERRAAYFIIONIZLI=FEFETELLY)

In [%]:
Run
/ TEG! config( counter3Z.bitstream.frame’) > B(C » Code M
Bitstream file reading ...0one. MUPT the kernel
Start TEG! configuration (about Tmin.)
/ —
ET—— _— RITFOTAT S L
JR7SLETH ' IMTLED

TEGT config( counter32.bitstream. frame’)

Bitstream file reading ...Done.
Start TEG! configuration (about Tmin.)
Detect CRC error.

out[e]: 1 «—— CRCIZ—MDHE“1"TET
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7. AVI4FxalL—iariglE, BEBIZhOUaNE{Ed 5. LEDTHETES.

8. A ANty (ARIE) (IDIPRAMYFDFEOE V.
AAYFETIZTHEDDUAD0IZHYELE.
AAYFELEIZTBENDUNT YT ERR.

9. TGPIO#2H Tcounter[23:0]ZxHARTT HIZFETT HE
Hhro 2D counter[23:0]12GPIOZ N L THEAHLEKRTRT .

Edi

GPIO#ZH Tcounter[23:0)Z#x# K= 9 D. counter[31:24]IF/R— KR LDLEDTHERTZS

In [14]: Edi

for | in range(100):
| byte = fpga_io_s.read
m byte = fpga io _e.read
h_byte = fpga_io n.read
FICEHTDERF
print (THDZx %0Zx %0Zx"%
¥ I0EHTDET
print{ "%3d %3d %3d"%(h_byte, m_byte, | byte), end=" " )
print{ "%10d"%(h bytex65536 + m_bytex256 + | byte) )

OfF ed 44 150 237 68 10480064
al 86 51 161 134 81 10585681 Counter[ZS.O]O)ﬂE
a2 65 ab 162 101 171 10642850

a3 45 83 163 69 131 10700163
1
1

]
)
]

— — e —

h_byte,m byte, | byte),end=" "]

a4 3b be 1684 59 180 0763198
ab 18 20 165 24 3% 0818616
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10.Ao232D) vk (BiwE) (EDIPRAYFDEOE V.
AAYFETIZTHENDUAMN0IZHYELE
AAYFEEIZTBENDUNT YT ERR.

11. TGPIO#%H Tcounter[23:0]%% J'T.J“}?ETT%J’E%?TT%&
Hhro 2D counter[23:0]%GPIO%E 4 L THA H Li'%'ﬁ?’%)

GPIO#2EH Tcounter[23:0]Z25H#T = 9 D. counter[31:24](F/R— R EDLEDTHERTE S

In [14]: Edi

for i in range(100):
| byte = fpga_io_s.read
m_byte = fpga_io_e.read
h_byte = fpga_io_n.read
# fﬁﬁ?ﬁ??fdpiﬁj‘

nt (7%02x %02x %02x"%(h_byte,m_byte, | byte),end=" "]
faﬁféﬁifdpiﬁj‘

print( "h3d %3d %3d"%(h byte, m byte, | byte), end=" " )
print( "%10d"%(h_bytex65536 + m_bytex256 + | byte) )

)
)

(
(
(1
(

9f ed 44 159 237 B8 10480064
al 86 51 161 134 81 10585681

a? 65 ab 162 101 171 10642859 [ . ] 1
a3 45 83 1683 B9 131 10700163 < Counter 230 O) E
a4 3b be 164 53 190 10763198
a5 18 20 165 24 32 10819516
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1. Jupyter notebook®Files?7 T “demo” T«4L Ik JIZA S
2. 79 5TE “vec8” DTALIUKRJIZASB

3. “vec8.ipynb” &#HVUVHILA =TT 5

File Edit View Insert Cell Kernel Widgets Help Trusted Python 3

+ = @ B A ¥ MHRun B C  Markdown v dhl

R MVREEEEDTE

16bitT — I Vv 7 S22 DM8bitFF S/ LEEE RS U16biti S LEES LTES

PYNQ-Z2_EXC7Z020DPLEI> I« F21L—>3>

In [9]: # import [ibrary
import matplotlib. pyplot as plt
import numpy as np
from pyng import allocate
from pyng import Overlay
from pyng. lib import AxiGPIO
import pyng. |ib. dma
import time

base = Overlay(”. /vec8 tegl 10MHz.bit”
thase = Overlay (" /vec8 tegl 50MHz bit”) # FHEFZEHEFEEEHNHYFET
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e
B LRNARETRNMMNERERER FEEEROIEVNFELGLEIER
)3—29 %

AT HFE AtRER
0%255)= 0 0
1x254)= 254 254

(
(
S_AXIS 8 M AXIS ( 2x253)= 506 506
16 7 16 16~ ( 3%252)= 756 756
— 3 X — ( 4%251)= 1004 1004
7 ( 5%250)= 1250 1250
( 6%249)= 1494 1494
( 7%248)= 1736 1736
CLK ( 8x247)= 1976 1976
(

 9u6)= 22142214
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— ML TWET IERT

== /=

=17

IZ&Y, ADT—H2EHRFE B&

0%x255)= O
1x254)= 254
2%253)= 506
3%262)= 156

4x251)= 1004
5%250)= 1250
6+249)= 1494
1%248)= 1136
8x247)= 1976
9%246)= 2214

S e —

AN HFE ftREER

0
254
506
156

(250 5)= 1250 1250
(251 4)= 1004 1004
(252« 3)= 756 156
(253« 2)= 506 506
(254 1)= 254 254
(255 0)= 0 0
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1. Jupyter notebook®Files?7 T “demo” T«4LZrJIZAB
2. BIT79ATE "sma8” ODT«LILJIZAS

3. “sma8.ipynb” #H)voLA—T T 5

Insert Cell Kerne

Widgets He Not Trusted Python 3

+ < Iy * ¥ MRun W C  Markdown v [l

BPETEDTE

SIEIDERE I DBbItDFSIE LHIBEDFIEZE D

PYNQ-Z2_ EXC7Z020DPLSIA> I ¥ a1 L —3>3>

In [24]: # import [ibrary
import matplotlib. pyplot as plt
import numpy as np
from pyng import allocate
from pyng import Over lay
from pyng. lib import AxiGPIO
import pyng. lib. dma
import time

base = Overlay(". /ldp_teg!_10MHz. bit")

print (base)
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- |nput data /o
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